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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the

BDP Term End Examination December-2019 & June-2020

Date of Publication

Last date of Submission of answer script by the student to the study
centre

Last date of Submission of marks by the examiner to the study centre

Date of evaluated answer scripts distribution by the study centre to
the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be
accepted after the said five days.

Last date of submission of marks by the study centre to the
Department of C.O.E. on or before
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Answer any two questions :

a)

<)

i)

ii)

ii)

NG HENT (FIE] TN (P 8 O THH ([T T |

Find the expression of radial and transverse component of acceleration of a
particle moving in a plane.

B (t=0) SEH (¥ @ 1 10 @oaw/T2 s wadl W@ 1 m aeiEs b
T AR @ S FIE | 1 CIPES 109 999 TRTEFOL@ @@ 384 | 6+ 4

A particle starts from rest with an angular acceleration 10 rad/s 2 in a circle of
radius 1 m. Find the linear acceleration of the particle at time t= 1 sec.

e olfefy @Y (FoRTE faell e swa | WEEw wed @iy TR
FOER aefr eifesr 3= |

Write down Kepler’s laws of planetary motion. Establish Kepler’s law from
Newton’s law of gravitation.

I (T @G CONETBIT AR BRI o ARG oo ais (25 ToiaRe »fiHplet
1=fbq IR Torg NSeT | (3+4)+3

Show that the period of revolution of a small satellite around a spherical

planet in a radius very close to the planet is independent of radius of planet.

AT TNy IS T4 @ 2T T | THAWIH AEIERT @6 Swizge i | 2+ 6 + 2

State and prove Bernoulli’s theorem. Give one example of its application.

i)

ii)

Mo, fpfo @ oo A i e |
Discuss stress, strain and elastic limit.

AB @6 HFBferem I A9 A A%l ol W@ <R B &lte WOl J& | JWlba e
[ @R @S 07 elfo @& w | AL & &AlF T 1 qog I g s | 4+ 6
AB is a cantilever beam, whose end A is rigidly fixed. The free end B is loaded

with a weight W. [ and w represent the length and weight per unit length.

Obtain the expression of depression at the free end.
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2.  @-IE Foaft o Tex e ¢ 6x3=18

Answer any three questions :

a)

b)

TP A6 [FOE sifonre @ o sifafes [erad s | 6

Discuss about rocket motion in space. Deduce the relevant mathematical

expression.
T (sTer @9 910 @ T@ag 9o/ ST | 3 (SI0oTd AT T RO 51 A1 TF 2 5 + 1

Describe the construction and working of a Pirani guage. Mention the lowest

measurable pressure by it.

GO QNP HEPE AN NCHFT Topoimis oasTz el T | 6

State and prove ‘Parallel axis’ theorem in connection with the ‘moment of inertia’.
( Give the diagram ).

@b (o oI 91 ey | @51 SIS = S | 2+4

Describe a Venturimeter. Explain its working principle.

) 9 e R e[ W& AL 62
Distinguish between stream line and turbulent flow of a liquid.

i) W@l fefess L@l (@FIE &[RIT SIER ARRER ( critical velocity ) @ER AN
T < | 2+4

Deduce the Reynold’s formula of critical velocity from dimensional analysis.
SIfER et oI FofeR o SIfE@ o1 (a7 913 @3l F4o corers a0 P R @32 o
M) )\ SERISE (I @ WG ( plumb line ) @ EEE WeTH (@RIF AN (T (1o AR S ©F
AR < T | 6

Find the expression of the angle that a plumb-line will make with the vertical line on
the surface of earth ( considering earth to be a perfect sphere of radius R and mass

M) at latitude angle A taking the spin of earth into account.

A TE€q / First Answer :
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Answer any four questions :

a)

b)

c)

d)

e)

@ TFEN T & e, ©f @fes-efn (oo A6, @ O iR 0 | 3

When a piece of camphor is put on water it darts about in different directions.
Explain why.
Y [eR ¢ (FaRETR T& 7T (T 794 | 3

Deduce the relation between gravitational potential and intensity.

M©F 8 RIAFIET @ o CoIfeTira (Pew SIS el F ool w1 2@z ((foa oy ) |
L TR @ Ofg W& 9 @A | F-@s N A $© 2% (STl (efi@q @ = 2 3

A horizontal force F acts on a solid sphere of mass M and radius R at its centre ( as
in figure ). u be the coefficient of friction between the sphere and ground. What is

the maximum value of F for which there is no slipping ?

M e B (fo@ (37 ) 73 @3 @ s o fm S9Ew W | m ©EE A a9 B
AR T AN I B W0 |, A @98 B-@F N TF0 @AF | A I T o4 e
F-a% W7 A T #4875 76 G T 2 3

Block B of mass M ( as in figure ) is resting on a frictionless floor and block A of
mass m is initially resting on B. p = coefficient of friction between A and B. What is

the maximum value of F up to which A and B will move together ?

A F

Af%, =

AT APBIE SR IR I P | 3

Explain surface tension of liquid in reference to molecular theory.
1 kg 6 2 kg S@ 76 31 8 ms ™26 6 ms~ 2 $ACI y € xTF IR bo1(7 | A ©F
(P 299 O ? 3

2 2

Two particles of mass 1 kg and 2 kg are moving at 8 ms™ © and 6 ms~ © along y

and x-axis respectively. What will be the acceleration of their centre of mass ?
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- A A AN
F=(3x+5y)i+(5x+2z)j+(2y+3x+4z)k

3
Prove that whether the following force is conservative :
- A A AN
F=(3x+5y)i+(5x+2z)j+(2y+3x+4z)k
h) T @ ¥F IAOER W& @G @ Hfogss e 7= el i | 3

Which one is more elastic — steel or dry air ? Explain with justification

A TE€d / First Answer :
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